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Derive Gibbs-Helmholtz equation in terms of internal energy and work
function.

OR
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Calculate entropy change involved in the conversion of 1 mole of water
at 100° C to vapours at the same temperature. (Latent heat of vaporization
of water is 540 cal/g)
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Discuss the Phase diagram of Pb-Ag system.

OR
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Explain the applications of distribution law.
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What is transport number? Describe Hittorf's method for the determination
of transport number.

OR
BIRIGE ® 97 B Ferar ¥ 3req fJerg ofqor &1 fqergar 3m fbd
YHR T D7
How will you determine the solubility of a sparingly soluble salt by
Kohlrausch law?
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Explain concentration cell its types and applications.
OR
T=E B TorEre v TAERY B ey BRI Td Sw IR
BT FHT |
Derive Nernst's equation of electrode potential and mention its applications.
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Section'A', containing 09 very short-answer-type questions, is compulsory.
Section 'B' consists of short-answer-type questions and Section 'C'
consists of long-answer-type questions. Section 'A" has to be solved first.
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Section - 'A'
fr=ifea aftraegmd weaf & STR e ar < gEal 7 )
Answer the following very short-answer-type questions in one or two
sentences. (1x9=09)
e @ w31 aRafia S |
Define Hess's law.
qogtdl @ gt o |
Write unit of Entropy.
=gt <Y A @ fsor &1 gogidl W @ yMre g 27
What will be the effect on entropy on mixing of two gases?
P fig W wWaaar a1 dife aar gef?
What will be degree of freedom on triple point?
@ g a3 @ forg wufra wrawen g fafg |

Write the condensed phase rule for three component system.
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What is the unit of ionic mobility?
faftre arerwar &1 aRwifia i |
Define specific conductivity.
@qur B &1 T IyEeT 87
What is the use of salt bridge?

fdeegeg solagre @ 87

What is Quinhydrone electrode?
Section - 'B’

fr=ifea og Soda geEl & SR 150200 e AT F ©
Answer the following short-answer-type questions with word
limit 150-200 (2x5=10)
SHEIRAT | AY Fa7 G987 ReR 39 @ Rer amues w
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What do you understand by heat capacity? Derive expressions for heat
capacity at constant volume and constant pressure.

OR
SIS BT FoH a9 d9=mgy |

Explain the first law of thermodynamics.
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Discuss the criteria of spontaneity and equilibrium in terms of entropy.
OR

qad Soil ¥ B &3 gRT By MY A Rt B awrer B ], wHsgy |

The decrease in free energy is equal to the net work done by the system.
Explain.
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Explain Phase and Component.
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C,H, + 7%02 —6 CO, +3H,0
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What is meant by consolute temperature? Explain phenol-water system.
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Write DHO equation and explain its significance.
OR
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What is the effect of dilution on specific conductance and equivalent
conductance? Explain.

Hamd gedagrs W fewft fafay |

Write note on Calomel electrode.
OR

&a ¥ fava 1 wHemsy |
Explain liquid junction potential.

Section - 'C'

frifha e Sadw weEt & IR 300-350 W Har F @
Answer the following long-answer-type questions with word
limit 300-350 (3x5=15)
favdits FfidHRor B agea BT |
Derive Kirchhoff's equation.
OR

= sifeel & I @ wwaT B T sTa IR
Determine enthalpy of formation of benzene using following data :

C+0,— CO, AH=-97 & SR (kcal.)

1
H, 5y O0,»> H,0  AH=-68.4% P (kcal.)

AH=-783.4 f&. Hand (kcal.)
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